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WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc Programme 6th Semester Examination, 2022  

ECOGGEC02T-ECONOMICS (GE2) 
Time Allotted:  2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

1. Answer any six questions from the following:
িনmিলিখত �য-�কােনা ছয়িট pেűর উtর দাওঃ 

2×6 = 12

(a) What do you mean by National Income of a country?
�কান �দেশর জাতীয়  আয় বলেত িক �বােঝা ? 

(b) What is marginal propensity to save? 
pািnক সĀয় pবণতা কােক বেল ? 

(c) What will be the value of MPS if MPC is 3
2 ? 

pািnক �ভাগ pবণতার মান 3
2 হেল, pািnক সĀয় pবণতার মান িনণ�য় কেরা। 

(d) Define M3 and M4. 
M3ও M4–এর সংjা দাও। 

 

(e) What is Demand-Pull inflation? 
চািহদা বৃিdজিনত মুdাsীিত কােক বেল ? 

 

(f) What is Cash Reserve Ratio? 
নগদ জমার অনুপাত কােক বেল ? 

 

(g) What do you mean by Bank rate? 
ব°াì �রট বলেত িক �বােঝা ? 

 

(h) What is Investment Multiplier? 
িবিনেয়াগ gণক কােক বেল ? 

 

(i) Define High-Powered money. 
উcশিkসmn অেথ�র সংjা দাও। 

 

(j) Write the difference between inflation and deflation. 
মুdাsীিত ও মdুাসংেকাচেনর মেধ° পাথ�ক°িট িক ? 

 

(k) What do you mean by ‘Say’s Law’? 
�স’র সূt বলেত িক �বােঝা ? 

 

(l) What do you mean by Commercial Bank? 
বািণিজ°ক ব°াì বলেত িক �বােঝা ? 
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2. Answer any two questions from the following:

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 
4×2 = 8

(a) What is value added method? How this method can be used to measure the 
national income? 
মূল° সংেযাজন পdিত িক ? এই পdিতর মাধ°েম িকভােব জাতীয় আয় পিরমাপ করা যায় ? 

(b) Explain the monetary measures in controlling inflation.
মুdাsীিত িনয়ntেণ আিথ�ক পdিতিট আেলাচনা কেরা। 

(c) What is consumption function? Mention the characteristics of consumption 
function. 
�ভাগ অেপkক কােক বেল ? �ভাগ অেপkেকর �বিশŶ°gিল আেলাচনা কেরা। 

(d) Explain the limitations of measuring National Income.
জাতীয় আয় পিরমােপর সীমাবdতাসমূহ আেলাচনা কেরা। 

  
3. Answer any three questions from the following:

িনmিলিখত pű �থেক �য-�কােনা িতনিট  pেűর উtর দাওঃ 
10×3 = 30

(a) Explain the method of Credit Control by the Central Bank.
�কndীয় ব°ােìর ঋণ িনয়ntণ পdিতিট আেলাচনা কেরা। 

10

(b) What do you mean by ‘Inflationary Gap’? Explain the effects of inflation. 
‘মুdাsীিতর ফাঁক’ বলেত িক �বােঝা ? মুdাsীিতর ফলাফল আেলাচনা কেরা। 

3+7 = 10

(c) (i) “Savings is always equal to investment”. Explain this statement.
(ii) Is GNP/GDP a true index of Nation’s Welfare? 
(i) ‘‘সĀয় ও িবিনেয়াগ সব�দা পরsেরর সমান’’— ব°াখ°া কেরা। 
(ii) GNP/GDP িক একিট �দেশর কল°াণসূচক হেত পাের ? 

5+5 = 10

(d) (i) Explain the difference between Bank and Non-banking financial institution. 
(ii) Discuss the functions of Commercial Bank. 
(i) ব°াì ও ননব°ািìং আিথ�ক pিতŸােনর পাথ�ক° �লেখা। 
(ii) বািণিজ°ক ব°ােìর কায�াবলী আেলাচনা কেরা। 

3+7 = 10

(e) What is value of money? Explain Fisher’s Quantity theory of money. 
অেথ�র মূল° িক ? িফসােরর অেথ�র পিরমাণ তttিট আেলাচনা কেরা। 

2+8 = 10

(f) What are the main assumptions of Simple Keynesian model? Explain with 
limitation how the equilibrium income will be determined in the simple 
Keynesian Model. 
সরল �কইনসীয় মেডেলর মূল অনুমানgিল িক ? সরল �কইনসীয় মেডেলর ভারসাম° জাতীয় আয় 
িকভােব িনধ�ারণ করা হয়, তা সীমাবdতাসহ আেলাচনা কেরা।  

3+7 = 10

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script. 

 
——×—— 

 


